
U3 Radical and 

Exponential Functions



U2 D2



Simplify:

1. 2𝑚𝑛2 2𝑚7𝑛3 4

2.
3𝑦2𝑧

−1

2𝑦𝑧4

3.
2 𝑎4𝑏

𝑐2𝑏5

0
4

4.
𝑔−3ℎ6

𝑔ℎ −2 4ℎ

What is 𝑥0?
120?

13𝑥2 0?



Solving Radical 

Equations



To Solve Radical Equations:
Use Reverse order of operations P/LER/MD/AS. 

Start at the bottom and work your way up to invert/undo operations until 
the variable is alone again.

Use an Exponent to undo a radical. The index of the radical and the exponent 
must match.



Solving an Equation

with Rational Exponents

 Convert rational exponent to root, then inverse plermdas

 Example:

2502 2
3

x



Solving an Equation

with Rational Exponents
 Convert rational exponent to root, then inverse plermdas

 Example:

4𝑥
2

3 = 16



Solving an Equation

with One Radical
 Convert rational exponent to root (already done), then inverse plermdas

 Example:

5274 x



Solving an Equation

with Two Radicals in x Put a radical on each side, the square both sides!! 

 Example:

0223  xx



Solving an Equation

with Two Radicals in x Put a radical on each side, the square both sides!! 

 Example:

0223  xx



YOU TRY!!



5𝑥 ∗ 52 = 57 2. 3−2 ∗ 3𝑥 = 32

3. 53 𝑥 = 56 4. 
56

5𝑥
= 54
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Day 4 Warm Up

 𝑥 = 9 2.  𝑥
1

2 = 16
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Homework

1.  (5, 5) and (-5, -5) 2. (5, 1) and (-5, -1)

3. D 4. C 5. (0, 3) and (-3, 0)



Solving radical equations

3.  
3
𝑥 + 1 = 3 4. 𝑥 + 1

1

3 = 2

5. 2𝑥 + 3
2

3 = 9 6.  3𝑥 − 7
5

2 = −32
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Solving Radical Equations:

CHECK YOUR SOLUTION(S)!!

1.  𝑥 + 2 − 2 = 𝑥 2.  3𝑥 − 2
1

2 = −5

3.  2𝑥 + 7
1

2 − 𝑥 = 2 4.  3𝑥
4

3 + 5 = 53
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Applications of radical equations

1. The volume of a sphere is 2145. If the formula 𝑉 =
4

3
𝜋𝑟3 is 

used to calculate the volume of a sphere, what is the radius of 

the sphere?



Applications of radical equations

2. The equation 𝑣 = 2.5𝑟 allows you to calculate the 

maximum velocity, v, that a car can safely travel around a 

curve with a radius of r feet. This is used by the Department 

of Transportation to determine the best speed limit for a 

given stretch of road. If a road has a speed limit of 45 mph, 

what is the tightest turn on that road?


